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Instructions :
funs Z'k%  %funsZ'k%  %funsZ'k%  %funsZ'k%  %funsZ'k%  %

(i) vfLeu~ iz'ui=ks pRokj% [k.Mk% lfUrA

bl iz'u&i=k esa pkj [k.M gSaA

There are four sections in this questions paper.

(ii) izfr[k.Me~ mÙkjkf.k i`Fkd~ iznÙkk;ke~ mÙkjiqfLrdk;ka ys[kuh;kfuA

izR;sd [k.M ds mÙkj i`Fkd~ nh xbZ mÙkj&iqfLrdk esa gh fy[kus gSaA

The answers have to be written in a separate answer-sheet.

(iii) izR;sda [k.Me~ vf/kÑR; mÙkjkf.k ,dfLeu~ LFkkus Øes.k ys[kuh;kfuA

izR;sd [k.M ds mÙkj ,d gh txg ij Øe esa fy[kus gksaxsA

The answers to each section must be written at one place.

(iv) iz'ui=ks mÙkjkf.k u ys[kuh;kfuA

iz'u&i=k ij mÙkj u fy[ksaA

Don't write answers in the question paper.

(v) iz'ula[;k iz'ui=kkuqlkje~ vo';eso ys[kuh;kA

iz'u&i=k ds vuqlkj iz'u la[;k vo'; gh fy[kuh gksxhA

Write the question number according tothe question paper.

(vi) losZ"kka iz'ukuke~ mÙkjkf.k laLÑrsu ys[kuh;kfuA

lHkh iz'uksa ds mÙkj laLÑr esa fyf[k,A

Answer all the questions in Sanskrit.

[k.M% d [k.M% d [k.M% d [k.M% d [k.M% d (Section  A)
vifBrka'k&vocks/kue~ ¼vifBr&vocks/ku½vifBrka'k&vocks/kue~ ¼vifBr&vocks/ku½vifBrka'k&vocks/kue~ ¼vifBr&vocks/ku½vifBrka'k&vocks/kue~ ¼vifBr&vocks/ku½vifBrka'k&vocks/kue~ ¼vifBr&vocks/ku½

Unseen Reading Comprehension 15 vad%

1. v/kksfyf[kr&vuqPNsn};a ifBRok iznÙkiz'uku~ i`Fkd iznÙkk;ke~ mÙkjiqfLrdk;ke~ mÙkjr—

fuEufyf[kr nksuksa vuqPNsnksa dks i<+dj fn, x, iz'uksa ds mÙkj i`Fkd~ nh xbZ mÙkj&iqfLrdk esa
fyf[k, —

Read the following two passages and answer the questions in the given answer-sheet :

¼d½¼d½¼d½¼d½¼d½ izFke% vuqPNsn%izFke% vuqPNsn%izFke% vuqPNsn%izFke% vuqPNsn%izFke% vuqPNsn%

thous lektlsok vo';a dj.kh;kA ;fn o;a dLeSfpr~ nhuk; /kua ;PNke%] fu''kqYda fuj{kja

ikB;ke%] rL; Lej.ksu vfi vkuUn% HkofrA ;fn o;e~ vf/kde~ vkuUne~ bPNke% rfgZ

vf/kdkf/kdkuka tukuka lgk;rka dq;kZeA fo|ka ;PNke] /kua ;PNke] Lusga ;PNke] le;a

;PNkeA nq%[kL; ewya LokFkZ%] lq[kL; ewya R;kx%A bne~ ,o lQyrk;k% jgL;e~A
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iz'uk%iz'uk%iz'uk%iz'uk%iz'uk%

I. ,dinsu mÙkjr %

,d 'kCn esa mÙkj nhft, %

Answer in one word : ½×4=2

(i) LokFkZ% dL; ewye~ \

(ii) R;kx% dL; ewye~ \

(iii) thous vo';a dk dj.kh;k \

(iv) o;a fu''kqYda da ikB;ke% \

II. iw.kZokD;su mÙkjr %

iw.kZ okD; esa mÙkj nhft, %

Answer in a complete sentence : 1×1=1

vf/kdkf/kde~ vkuUna izkIrqa o;a fda fda dq;kZe \

III. ;FkkfunsZ'ke~ mÙkjr %

;FkkfunsZ'k mÙkj nhft, %

Answer as directed : ½×4=2

(i) ^dLeSfpr~* bfr fo'ks"k.ka dL; inL; vfLr\

(ii) ^;PNke%* bfr fØ;kinL; drkZ d%\

(iii) ^bne~ ,o lQyrk;k% jgL;e~* bfr okD;s fde~ vO;;ine~\

(iv) ^'kqYda fouk* bfr dL; inL; vFkZ%\

¼[k½¼[k½¼[k½¼[k½¼[k½ f}rh;% vuqPNsn%f}rh;% vuqPNsn%f}rh;% vuqPNsn%f}rh;% vuqPNsn%f}rh;% vuqPNsn%

dkfynkl% es?knwra jfproku~A es?knwrs ekulwufoKkuL; vn~Hkqra o.kZue~ vfLrA ekulwule;%

vk"kk<eklkr~ izkjHkrsA ';kees?kku~ n`"V~ok losZ tuk% izlUuk% HkofUrA e;wjk% u`R;fUrA ekulwues?kk%

losZ"kka thokuka d"Ve~ vigjfUrA es?kkuka tya ouLifrH;%] i'kqif{kH;%] fda ok losZH;%

izkf.kH;% thoua iz;PNfrA es?ktyS% Hkwes% moZjk'kfDr% o/kZrsA {ks=kk.kka fl×pua HkofrA xxus ;nk

dnk bUnz/kuq% vfi n`';rsA ok;q% 'khry% HkofrA 'kq"dHkwekS o"kkZ;k% fcUno% irfUrA Hkwes%

lqxfU/kra ck"ia fuxZPNfrA dnEciq"ikf.k fodlfUrA rs"kq Hkzejk% xq×tfUrA gfj.kk% izlUuk%

HkwRok brLrr% /kkofUrA pkrdk% tyfcUnwu~ ficfUrA cykdk% iafDar c/n~ok vkdk'ks mM~Mh;UrsA

es?knwrs es?k% ;{kL; lUns'ka u;rq bfr izkfFkZr%A vr% dkfynkl% ok;qekxZL; Kkuo/kZda

o.kZua djksfrA
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iz'uk%iz'uk%iz'uk%iz'uk%iz'uk%

I. ,dinsu mÙkjr %

,d 'kCn esa mÙkj nhft, %

Answer in one word : 1×2=2

(i) es?kkuka tya izkf.kH;% fda iz;PNfr\

(ii) Hkzejk% dq=k xq×tfUr\

II. iw.kZokD;su mÙkjr %

iw.kZ okD; esa mÙkj nhft, %

Answer in a complete sentence : 1×4=4

(i) Hkwes% fda fuxZPNfr \

(ii) es?knwra d% jfproku~ \

(iii) ekulwues?kk% ds"kka d"Ve~ vigjfUr \

(iv) cykdk% dFke~ vkdk'ks mM~Mh;Urs \

III. ;FkkfunsZ'ke~ mÙkjr %

;FkkfunsZ'k mÙkj nhft, %

Do as directed : ½×4=2

(i) vfUreiaDrkS vO;;ina fpRok fy[krA

(ii) Kkuo/kZde~ bfr dL; fo'ks"k.ke~ \

(iii) ^/kkofUr* bfr fØ;kinL; drkZ d% \

(iv) ^{kh;rs* fØ;kinL; fda foykseine~ v=k iz;qDre~ \

IV. vL; vuqPNsnL; d`rs leqfpra 'kh"kZda fy[krA

bl vuqPNsn ds fy, mi;qä 'kh"kZd fyf[k,A

Write a suitable title for this paragraph. 2
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[k.M% [k [k.M% [k [k.M% [k [k.M% [k [k.M% [k (Section B)
jpukReddk;Ze~ ¼jpukRed&dk;Z½jpukReddk;Ze~ ¼jpukRed&dk;Z½jpukReddk;Ze~ ¼jpukRed&dk;Z½jpukReddk;Ze~ ¼jpukRed&dk;Z½jpukReddk;Ze~ ¼jpukRed&dk;Z½

Writing Skills 20 vad%

2. i=kys[kue~ %i=kys[kue~ %i=kys[kue~ %i=kys[kue~ %i=kys[kue~ % ½×10=5

Hkorh lquhrkA Hkorh iqLrdky;kr~ ,da iqLrda ^pVqdqY;k'krde~* Lohd`R; ifBrorhA rL; iqLrdL;
Nk;kizfra LoHkfxU;k% ldk'ka izs"k;frA rnFk± fyf[kra i=ka e×tw"kknÙkinS% iwjf;Rok iqu% fy[krqA

vki lquhrk gSaA vkius iqLrdky; ls ,d iqLrd ^pVqdqY;k'krde~* ysdj i<+h gSA ml iqLrd dh
Nk;kizfr vki viuh cfgu fLerk ds ikl Hkst jgh gSaA bl vk'k; ls fy[ks x;s i=k dks e×tw"kk esa
fn, x, inksa ls Hkj dj iqu% fyf[k,A

You are Sunita. You borrowed a book 'Chatukulya-Satakam' from the library. You are
sending a photo-copy of the same to your sister Smita. Fill in the blanks in the following letter
written to your sister Smita in that context with the help of words given in the box and rewrite
the same.

,- 10] fo".kquxje~

(i)__________

fnuk³~d%__________

fiz; (ii)__________

lLusga ue% A

v=k loZxra dq'kye~ vfLrA eU;s Hkorh vfi (iii)__________A
 
Hkorh fyf[krorh

;r~ Hkorh laLd`rHkk"kk;ka fyf[kra ljyiqLrda ifBrqe~ bPNfrA e;k iqLrdky;kr~ ^pVqdqY;k'krde~*

(iv)__________ Lohd`R; ifBre~A gflRok (v)__________ ee mnjs rq ihMk tkrkA

rL; iqLrdL; Nk;kizfra dkjf;Rok vga (vi)__________ ldk'ka izs"k;kfeA iBuikBus HkoR;k%

#fp% loZnk (vii)__________A iBrq rkor~A dFke~ vfLr bfr (viii)__________A

LofirjkS (ix)__________
 
ee iz.kkek×tfy% fuosnuh;kA

Hkonh;k LusgflDrk Hkfxuh]
(x) __________ A

e×tw"kke×tw"kke×tw"kke×tw"kke×tw"kk

o/kZrke~] izfr] lquhrk] dq'kfyuh] fLers] laLd`riqLrde~]

HkoR;k%] gflRok] fy[krq] dkuiqjr%A
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3. laoknys[kue~ 1×5=5

e×tw"kkiznÙkiafDrlgk;r;k v/kksfyf[kra laokna iwjf;Rok iqu% fy[kr —

e×tw"kk esa nh xbZ iafä;ksa dh lgk;rk ls fuEufyf[kr laokn dks Hkjdj iqu% fyf[k, —

Complete the following dialogue with the help of the statements given in the box and
re-write in your answer-sheet :

,dnk dks·fi ckcw os"k/kkjh ukxfjd% ukSd;k unhikja xPNfr LeA l% vkdk'ka i';fr] ukfoda p

i`PNfr —

ukxfjd% — Hkks ukfod! u{k=kfo|ka tkukfl fde~\

ukfod% — (i) _____________________

ukxfjd% — ¼glu~½ Hkks ew[kZ! ro thouL; prqFkk±'k% u"V%A xf.kra ifBroku~ fde~\

ukfod% — (ii) _____________________

ukxfjd% — vjs ! ro thouL; v/k± O;Fk± tkre~A ¼ò{ki³~drh% ǹ"V~ok½ ò{kfoKkua tkukfl\

ukfod% — (iii) _____________________

ukxfjd% — gk gUr! ro thouL; f=kprqFkk±'k% O;FkZ% xr%A

ukfod% — (iv) _____________________

ukxfjd% — Hkks%A ,"kk ukSdk rq nksyk;rsA tyefi izfo'kfrA fda djksfeA rj.ka u tkukfeA

ukfod% — (v) _____________________

                   e×tw"kk                   e×tw"kk                   e×tw"kk                   e×tw"kk                   e×tw"kk

x.kuke~ ,o tkukfe] u rq xf.kre~A

Hkks% dFka o`{kfoKkua tkukfeA dFkefi ukSdka pky;kfe] mnj×p HkjkfeA

ufg ufg] vga rq izfrfnua rkjdkf.k n`"V~ok uekfeA

rj.ka u tkukfl fdy\ rfgZ uwua ro lEiw.kZeso thoua u"Ve~A

i';rq i';rq] izcy% ok;qizdksi% mRiUu%A vga rq dwfnZRok rjkfeA
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4. fp=ko.kZue~ % 2×5=10

e×tw"kkinlgk;r;k v/kksfyf[kra fp=ka i×pi×pi×pi×pi×p laLd`rokD;s"kq o.kZ;r —

e×tw"kk ds inksa dh lgk;rk ls v/kksfyf[kr fp=k dk o.kZu ik¡pik¡pik¡pik¡pik¡p laLÑr okD;ksa esa dhft, —

Describe the following picture in five Sanskrit sentences with the help of words given
in  the  box :

e×tw"kke×tw"kke×tw"kke×tw"kke×tw"kk

}kS ckyJfedkS] gLrs] lwfpdk] lwP;k] iq"ikf.k] 'kkfVdk;ke~] dk;sZ layXukS] eLrds JefcUno%] oL=kkf.k]
u] leqfprkfu] d.Bs d`".klw=keso] ckyd;ks% mifj vR;kpkj%] ckY;lq[kkr~ of×prkSA

vFkok vFkok vFkok vFkok vFkok (or)

dsoya izKkp{kqH;Z%dsoya izKkp{kqH;Z%dsoya izKkp{kqH;Z%dsoya izKkp{kqH;Z%dsoya izKkp{kqH;Z%

¼dsoy us=kghuks a ds fy,½¼dsoy us=kghuks a ds fy,½¼dsoy us=kghuks a ds fy,½¼dsoy us=kghuks a ds fy,½¼dsoy us=kghuks a ds fy,½

For Blind Candidates only

^ckyJe% ckyds"kq vR;kpkj%* bfr fo"k;e~ vf/kd`R; laLd`rsu i×pi×pi×pi×pi×p okD;kfu fy[krA lgk;rk;S
e×tw"kk nÙkkA

^ckyJe% ckyds"kq vR;kpkj%* bl fo"k; ij laLÑr esa ik¡pik¡pik¡pik¡pik¡p okD; fyf[k,A lgk;rk ds fy, e×tw"kk
nh xbZ gSA

Write  five sentences in Sanskrit on ^ckyJe% ckyds"kq vR;kpkj%* You can take help from the
words given in the box.
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e×tw"kke×tw"kke×tw"kke×tw"kke×tw"kk

tyikux`gs"kq] Hkkstuky;s"kq] m|ksxs"kq] ckydk%] vYiosrue~] lqfo/kkuke~ vHkko%] f'k{kkr% of×prk%]

lwphdk;Ze~] ØhMukr~] ckY;lq[kkr~ of×prk%] fofo/kk% vR;kpkjk%] tuk%] xzkesH;% vku;fUr]

ØhRok vfiA

2×5=10

[k.M% x [k.M% x [k.M% x [k.M% x [k.M% x (Section  C)

vuqiz;qäO;kdj.ke~ ¼vuqiz;qä O;kdj.k½vuqiz;qäO;kdj.ke~ ¼vuqiz;qä O;kdj.k½vuqiz;qäO;kdj.ke~ ¼vuqiz;qä O;kdj.k½vuqiz;qäO;kdj.ke~ ¼vuqiz;qä O;kdj.k½vuqiz;qäO;kdj.ke~ ¼vuqiz;qä O;kdj.k½

Applied Grammar 30 vad%

5. v/kksfyf[krs"kq okD;s"kq js[kkf³~drins"kq lfU/kPNsna lfU/ka ok fo/kk; mÙkjiqfLrdk;ka fy[kr— 1×3=3

fuEufyf[kr okD;ksa esa js[kkf³~r inksa esa lfU/kPNsn@lfU/k djds mÙkjiqfLrdk esa fyf[k,—

Rewirte the underlined words of the following sentences in your answer-sheet after

joining/disjoining sandhis :

(i) rr~ + JqRok ;wFkifr% lxn~xne~ mDroku~A

(ii) loZnk loZnk·Lekda lfUuf/ka lfUuf/ka fØ;kr~A

(iii) viwoZ% dks·fi dks'kks·;a fo|rs ro Hkkjfr!

6. js[kkf³~drins"kq lekla foxzga ok fo/kk; mÙkjiqfLrdk;ka fy[krA 1×4=4

js[kkf³~dr inksa esa lekl@foxzg djds mÙkjiqfLrdk esa fyf[k,A

Join or disjoin the compounds in the underlined words and re-wirte them in the
answer-sheet. :

(i) vgeso 'khrys tys ^fLFkrizK%* bo fr"BkfeA

(ii) vge~ vkezo`{ks fLFkRok i×peLojs.k xk;kfeA

(iii) dks Hksn% fid% p dkd% p r;ks% \

(iv) vgks! u Kkua HkoR;k% \
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7. dks"Bds iznÙkku~ izÑfrizR;;ku~ ;kstf;Rok vuqPNsna iqu% fy[krA 1×5=5

dks"Bd esa fn, x, izÑfr&izR;;ksa dks tksM+dj vuqPNsn dks iqu% fy[ksaA

Rewrite the passage after joining suffixes to the roots or words given in brackets.

izkr%dkys m|kuL; 'kksHkk [kyq (i) _________ ¼n`'k~ + vuh;j~½A 'kh?kza 'kh?kza (ii) __________ ¼py~ +

'kr`½ tuk% izlUuk HkofUrA rs ok;ks% (iii) _________ ¼'khry + ry~½ vuqHkofUr (iv) _________

¼i{k + bu~½ e/kqjLojs.k xk;fUrA ckydk% (v) _________ ¼ckyd + Vki~½ p dUnqdsu ØhMfUrA

8. iznÙkS% vO;;inS% fjDrLFkkukfu iwjf;Rok okD;kfu iqu% fy[krA 1×5=5

fn, x, vO;; inksa ls fjDr LFkkuksa dks Hkjdj okD;ksa dks iqu% fyf[k,A

Rewrite the following sentences after filling in the blanks with suitable indeclinables.

(i) fo|ky;s _________ okf"kZdksRlo% vfLrA

(ii) Nk=kk% fo|ky;kr~ _________ izos'k}kjs vfrFkhuka Lokxra dfj";fUrA

(iii) dspu _________ t;?kks"ka dfj";fUrA

(iv) Nk=kk% _________ ,o fo|ky;e~ vy³~d`roUr%A

(v) i';r] _________ eq[;kfrfFk% vkxPNfrA

¼mPpS%] v/kquk] v|] á%] cfg%½

9. v/kksfyf[krokrkZykis fjDrLFkkukfu iwjf;Rok mÙkjkf.k ,o mÙkjiqfLrdk;ka fy[kr — 1×3=3

fuEufyf[kr okrkZyki esa fjDr LFkku Hkjdj mÙkj] mÙkjiqfLrdk esa gh fyf[k, —

Fill in the blanks in the following dialogue and write the answers in the answer-sheet
only :

lqjs'k% — ekyfr! fde~ vfrFk;% Hkkstua dqoZfUr\

ekyrh — vke~ Hkzkr%A vfrfFkfHk% Hkkstua (i) _________
 
A

lqjs'k% — ekyfr! fda tud% vfi r=k mifo'kfr \

ekyrh — Hkzkr%! (ii) _________
 
r=k u mifo';rsA

lqjs'k% — ekyfr! fda ekrk Qykfu vku;fr\

ekyrh — vke~! ek=kk (iii) _________
 
vkuh;UrsA
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10. v/kksfyf[krdk;ZØes v³~dkuka LFkkus laLd`rins"kq le;e~ mÙkjiqfLrdk;ka fy[kr — 1×4=4

fuEufyf[kr dk;ZØe esa v³~dksa ds LFkku ij laLÑr 'kCnksa esa le; mÙkjiqfLrdk esa fyf[k, —

Indicate the time as shown in the following schedule in Sanskrit words in the

answer-sheet :

(i) 6-15 lk;e~ vfrFkhuke~ vkxeue~] tyikue~A

(ii) 7-30 lk;e~ dkO;xks"BhA

(iii) 8-15 lk;e~ HkfDrl³~xhre~A

(iv) 10-00 lk;e~ lekiue~A

11. v/kksnÙks"kq okD;s"kq vadkuka LFkkus laLd`rla[;kokpdfo'ks"k.kkfu iwj;r — ½×4=2

fuEufyf[kr okD;ksa esa vadksa ds LFkku ij laLÑr ds la[;kokpd fo'ks"k.k fyf[k, —

Write numerical Sanskrit adjectives in place of figures in the following sentences.

(i) osnk% _________
 
lfUrA

(ii) _________ efgyk% izfrfnua iwtka dqoZfUrA

(iii) _________
 
HkfxU;kS lLoja xhrka iBr%A

(iv) xhrk __________
 
egku~ xzUFk% vfLrA

12. v/kksfyf[krokD;kuka la'kks/kua d`Rok okD;kfu iqu% fy[kr — 1×4=4

v/kksfyf[kr okD;ksa dk la'kks/ku djds okD;ksa dks iqu% fyf[k, —

Correct the following senctences and re-write them in the answer-sheet :

o;a fuR;e~ vxztkuka pj.kkS Li`'kfUr] rs"kke~ vk'khokZnk% vLeku~ j{kfr] ;s f'k";kS xq#tukuka pj.kkS

Li`'kfUr] rs"kke~ vk;q% o/kZUrsA

4

3

2

1
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[k.M% [k [k.M% [k [k.M% [k [k.M% [k [k.M% [k (Section  D)
ifBr&vocks/kue~ ¼ifBr&vocks/ku½ifBr&vocks/kue~ ¼ifBr&vocks/ku½ifBr&vocks/kue~ ¼ifBr&vocks/ku½ifBr&vocks/kue~ ¼ifBr&vocks/ku½ifBr&vocks/kue~ ¼ifBr&vocks/ku½

Reading Comprehension 35 vad%

13. v/kksfyf[kra x|ka'ka] i|ka'ka] ukV~;ka'ka p ifBRok iznÙkiz'ukuke~ mÙkjkf.k mÙkjiqfLrdk;ka fy[kr —

fuEufyf[kr x|ka'k] i|ka'k vkSj ukV~;ka'k dks i<+dj fn, x, iz'uksa ds mÙkj mÙkj&iqfLrdk esa fyf[k,—
Read the following prose, poetry and drama passages and answer the given questions in the
answer-sheet :

¼d½¼d½¼d½¼d½¼d½ x|ka'k%x|ka'k%x|ka'k%x|ka'k%x|ka'k%

v=k vusds izeq[kksRlok%A ^ok³~pks* tutkrhuka izeq[ka ioZ ^vksfj;k* bfr vfLrA ,rr~ rq Qjojh

ekls ekU;rsA vfLeu~ voljs d`f"kHkwfeiwtua] lsrqfuekZ.ke~ p lkekftda dk;± fØ;rsA ^eksihu*

bR;fi d`f"kioZ vfLrA nsokukefi nso% ^eksihu* bfr dF;rsA ^gksyh* ln`'ke~ ,o ioZ bne~A tuk%

ijLija eq[ks diksys p 'kkfypw.k± fyEifUrA bne~ ^vizsy* bfr ekls ekU;rsA

iz'uk%iz'uk%iz'uk%iz'uk%iz'uk%

I. ,dinsu mÙkjr % ½×4=2

,d 'kCn esa mÙkj nhft, %

Answer in one word :

(i) nsokuka nso% d% dF;rs \

(ii) ^vksfj;k ioZ* dfLeu~ ekls ekU;rs \

(iii) ^eksihu* bfr ioZ dsu ln`'ke~ \

(iv) tuk% ijLija eq[ks diksys p fda fyEifUr \

II. iw.kZokD;su mÙkjr % 1×1=1

iw.kZ okD; esa mÙkj nhft, %

Answer in a complete sentence :

^vksfj;k* ioZf.k fda fda dk;± fØ;rs \

III. ;FkkfunsZ'ke~ mÙkjr % ½×4=2

;FkkfunsZ'k mÙkj nsa %

Do as directed :

(i) izeq[ke~ bfr dL; inL; fo'ks"k.ke~ \

(ii) ^^bne~* vizsyekls ekU;rs* bR;=k bna loZukeina dLeS iz;qDre~ \

(iii) ^fyEifUr* bfr fØ;kinL; fda drZ̀ine~ \

(iv) ^v=k vusds izeq[kksRlok%* bfr okD;s fde~ vO;;ine~ \
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¼[k½¼[k½¼[k½¼[k½¼[k½ i|ka'k%i|ka'k%i|ka'k%i|ka'k%i|ka'k%

vkpkj% izFkeks /keZ%] bR;srn~ fonq"kka op%A

rLekn~ j{ksr~ lnkpkja] izk.ksH;ks·fi fo'ks"kr%AA

iz'uk%iz'uk%iz'uk%iz'uk%iz'uk%

I. ,dinsu mÙkjr % 1×2=2

,d 'kCn esa mÙkj nhft, %

Answer in one word :

(i) ^izFke% /keZ% vkpkj%* bfr ds"kka op% \

(ii) rLekr~ da j{ksr~ \

II. iw.kZokD;su mÙkjr % 1×1=1
iw.kZ okD; esa mÙkj nhft, %
Answer in a complete sentence :

lnkpkjL; j{kk dsH;% vfi dj.kh;k \

III. ;FkkfunsZ'ke~ mÙkjr % ½×4=2

;FkkfunsZ'k mÙkj nhft, %

Do as directed :

(i) ^izFke%* bfr dL; inL; fo'ks"k.ke~ \

(ii) ^fo'ks"k:is.k* bfr LFkkus fda ine=k iz;qDre~ \

(iii) ^opue~* bfr LFkkus fda ine=k iz;qDre~ \

(iv) izFkeiaDrkS fde~ vO;;ine~ iz;qDre~ \

¼x½¼x½¼x½¼x½¼x½ ukV~;ka'k%ukV~;ka'k%ukV~;ka'k%ukV~;ka'k%ukV~;ka'k%

;qf/kf"Bj% — lEizfr vk'oLr% vfLeA eU;s l czãkL=kiz;ksxa u dfj";frA

Jhd`".k% — rfgZ u tkukfl rL; eukso`fÙke~A firq% mins'ksu vlUrq"V% l ,dnk }kjdkiqjhe~

vkxPNr~A czãkL=ka nÙok l% lqn'kZupØe~ vok×Nr~A

;qf/kf"Bj% — ¼lk'p;Ze~½ dFka pØe~ bfrA

Jhd`".k% — vke~! e;k dfFkre~ ukga RoÙk% czãkL=ke~ bPNkfeA ;fn Roa ee xnka] 'kfDar]

/kuq%] pØa ok bPNfl] rqH;a nnkfeA

;qf/kf"Bj% — rrLrr%A

Jhd`".k% — l rq pØeso v;kprA x`gk.k pØe~ bfr mDr% l lO;su ikf.kuk pØa

x`ghroku~ fdUrq l% rr~ pØa LoLFkkukr~ lapkyf;rqe~ vfi leFkZ% ukHkor~A
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iz'uk%iz'uk%iz'uk%iz'uk%iz'uk%

I. ,dinsu mÙkjr % ½×4=2

,d 'kCn esa mÙkj nhft, %

Answer in one word :

(i) v'oRFkkek Jhd`".ka fde~ v;kpr \

(ii) v'oRFkkek dsu ikf.kuk pØa x`ghroku~ \

(iii) v'oRFkkek dL; mins'ksu vlUrq"V% vklhr~ \

(iv) v'oRFkkek fda nÙok pØe~ vok×Nr~ \

II. iw.kZokD;su mÙkjr % 1×1=1

iw.kZ okD; esa mÙkj nhft, %

Answer in a complete sentence :

Jhd`".k% nzks.kiq=kk; fda fda nkrqa rRij% vHkor~ \

III. ;FkkfunsZ'ke~ mÙkjr % ½×4=2

;FkkfunsZ'k mÙkj nsa %

Answer as directed :

(i) ^dFka pØe~* bfr d% dFk;fr \

(ii) ^vxPNr~* bfr inL; fda foykseine~ v=k iz;qDre~ \

(iii) ^bPNfl* fØ;kinL; drZ̀ina fde~ \

(iv) ^gLrsu* bfr LFkkus fda ine=k iz;qDre~ \

14. v/kksfyf[kri|};L; HkkokFkZe~ mi;qDrinS% iwjf;Rok iqu% fy[kr — 3+3=6

fuEufyf[kr nks i|ksa ds HkkokFkks± dks mi;qä 'kCnksa ls Hkjdj iqu% fyf[k, —

Rewrite the explanations of the following two stanzas and re-write them in the answer-
sheet :

I. vla'k;a egkckgks! euks nqfuZxzga pye~A
vH;klsu rq dkSUrs;! oSjkX;s.k p x`g~;rsAA

HkkokFkZ%HkkokFkZ%HkkokFkZ%HkkokFkZ%HkkokFkZ%

(i) gs ________ ! v=k la'k;% ukfLr ;r~ ,rr~ (ii) ________ vrho p×pye~ vfLrA d"Vsu

,o o'ks Hkofr ijUrq ;fn o;a iqu% iqu% (iii) ________ dqeZ%] fojDrk% p Hkoke%] rnk uwue~

,rr~ o'ks drq± 'kD;rsA
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II. ufyuhnyxrtyoÙkjya fde~\ ;kSoua] /kua pk;q%A
dFk; iqu% ds 'kf'ku% fdj.klek%\ lTtuk ,oAA

HkkokFkZ%HkkokFkZ%HkkokFkZ%HkkokFkZ%HkkokFkZ%

deyL; i=kL; mifj fLFkra tyfcUnqor~ p×pya fde~\ (i) ________] /kue~ (ii) ________

pA ds tuk% pUnzL; fdj.kk% bo 'khryk% bfr onA rs rq] (iii) __________ ,oA

15. v/kksfyf[kri|};L; vUo;kS iwjf;Rok iqu% fy[kr — 1½+1½=3

fuEufyf[kr nks i|ksa ds vUo;ksa dks iwjk djds iqu% fyf[k, —

Complete and re-write the prose order renderings of the following two stanzas :

I. fe=k:ik% fg fjio% lEHkk";Urs fop{k.kS%A
;s fgra okD;eqRl`T; foijhrksilsfou%AA

vUo;%vUo;%vUo;%vUo;%vUo;%

;s fgre~ okD;e~ (i) _________ foijhr&milsfou% ¼HkofUr½] ¼rs½ (ii) _________fe=k:ik% fg

(iii) _________ lEHkk";UrsA

II. vkpk;kZRikneknÙks] ikna f'k";% Loes/k;kA
dkysu ikneknÙks] ikna lczãpkfjfHk%AA

vUo;%vUo;%vUo;%vUo;%vUo;%

f'k";% vkpk;kZr~ ikne~ (i) _________ Loes/k;k (ii) ________ ¼vknÙks½] dkysu ikne~ vknÙks]

¼f'k";%½ (iii) _________
 
ikne~ ¼vknÙks½A

16. js[kkf³~drinkfu vkfJR; iz'ufuekZ.ka Ñ#rA 1×4=4

js[kkf³~dr inksa ds vk/kkj ij iz'u&fuekZ.k dhft, %

Frame questions on the basis of the underlined words :

(i) loSZ% ,o es 'kksHkkA

(ii) vkiRdkys ljkafl R;DRok nwja oztflA

(iii) loZ% nqxkZf.k rjrqA

(iv) fo'oL; vkRek vge~A
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17. ?kVukØekuqlkje~ v/kksfyf[krokD;kfu iqu% Øes.k fy[kr — ½×8=4

?kVukØe ds vuqlkj fuEufyf[kr okD;ksa dks iqu% Øe ls fyf[k, —

Re-write the following sentences in the sequential order :

(i) nq"Vcqf)% rq rL; opukfu frjLd`roku~A

(ii) izPNUuHkkX;% d`"kdL; {ks=ks dk;± d`Rok /kuh tkr%A

(iii) ekxsZ ØhMRlq ckyds"kq ,d% onfr&Hkks%! ;qoke~ fdeFk± dqiFks izo`ÙkkS \

(iv) l% vfpUr;r~ & uwue~ vga pkS;Zdk;± R;DRok x`ga xPNkfeA

(v) ,rPNqRok izPNéHkkX;L; us=ks leqUehfyrs tkrsA

(vi) izPNéHkkX;% x`ge~ vkxR; mPpS% jksfnrqe~ vkjHkrA

(vii) l% xzkes xzkes pkS;Zdk;± d`roku~A

(viii) rL; cqf)erh Hkk;kZ vonr~ & /kS;± /kkj;] m|ea dq#A

18. izl³~xkuqlkja js[kkf³~drinkuka 'kq)e~ vFk± fpRok fy[krA 1×3=3

izlax ds vuqlkj js[kkafdr inksa ds 'kq) vFkZ pqudj fyf[k,A

Write the meaning of the underlined words suitable to the context.

I. vL; ;kP×kk o`Fkk ek vLrqA

(i) ikpuk (ii) fHk{kk (iii) ;krukA

II. rL; izFkee~ ,da p{kq% izfrf"Bre~ vHkor~A

(i) vknj;ksX;e~ (ii) izLFkku;ksX;e~ (iii) LFkkfire~A

III. 'kØ% r=kSo vUrfgZr% vHkor~A

(i) vxzs fLFkr% (ii) foyqIr% (iii) e/;s fLFkr%A


